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Topic:- DU_J19_MPHIL_EDU

1) Which of the following statistical technique is a measure of relative position?

fFafafaa & @ sA-3 St aedte anfée Rfs S A @ 2
[Question ID = 24552]

1. Percentile score / RIddHd UTkic [Option ID = 38206]
2. Range / URER [Option ID = 38203]

3. Standard deviation / & fd<c [Option ID = 38205]
4. Variance / UERUT [Option ID = 38204]

Correct Answer :-
« Range / GRIR [Option ID = 38203]

2) Which of the following statement is true for Stratified Sampling Method?
I: The strata should be mutually exclusive and collectively exhaustive.

II: The strata should be interdependent and collectively exhaustive.

III: The members within a stratum should be as homogenous as possible.
IV: The members within a stratum should be as heterogeneous as possible.

wiva ufeel oo faftr ¥ ey # Fufif@d § A P-TT YT a0 ?
I: TR RER 3(Uasid 3R Irfed &0 | guf g9 71k |

II: TR RT3 iR Wnfe® =u & guf g1 =nfee |

III: SIgT a% WHd 8 TR & e UH G g1 17T |

IV: S8l d& HH4 8§l TR & I faeidig g1 =mfeu |

[Question ID = 24567]

1.1and IV /I 3R IV [Option ID = 38264]
2.Tand III / I 3fRR III [Option ID = 38263]
3.1 and IV / II 3R IV [Option ID = 38265]
4. 11 and III / II 3fR III [Option ID = 38266]

Correct Answer :-
e TandIll/ I 3R 111 [Option ID = 38263]

3) Which of the following is characteristic of qualitative research?

fFrafafaa & T uners My &1 fraeor SI9-a1 8 ?
[Question ID = 24568]

1. Analysis of data using statistical tools / 3@ el & A=Y & T HiRADH T IUSBRUN &1 YA [Option ID =
38268]



2. Standardized tests and measures / IIFlTﬁW Teur 3R A [Option ID = 38270]
3. Generalisation of findings / fsrSf &1 WHTAGRUT [Option ID = 38267]
4. Unique case orientation / 310 &9 Y=g [Option ID = 38269]

Correct Answer :-
» Generalisation of findings / fspuf &7 iR [Option ID = 38267]

4) Which of the following is incorrect about ‘Theories’?

frrafafaa & 4 o9 91 o4 gk F R A Taa g 2
[Question ID = 24548]

1. Theory, once established becomes a law. / T dR RNTUd g & 916 Rigrd a9 &7 o1 %‘ | [Option ID =
38189]

2. Theory explains phenomena, thus enabling prediction. / RIGT= T & SORSAT HRT § IR 39 UHR URIfGT
! FHa ST § | [Option ID = 38190]

3. Theory presents a systematic view of phenomena described by variables./ RiGr =R} gRT aftfd werest &t T
AR Y T¥d BT & | [Option ID = 38188]

4. Theory is a set of prepositions consisting of defined and inter related constructs./ g TRYIAT 3R
s fAfiffaat @ gad gmuTomTatt %1 I § 1 [Option ID = 38187]

Correct Answer :-

» Theory is a set of prepositions consisting of defined and inter related constructs./ gd aRHIRT iR
Siqfsfera fAffaal @ gad uRroATstt %1 W= 81 [Option ID = 38187]

5) Which of the following is incorrect about qualitative research?

fFrafafaa 3 3 e My & 9y T FT I A8 @ ?
[Question ID = 24550]

1. It also results in some quantification. / 3T URUTH & TRATIA +t 811§ | [Option ID = 38196]

2. Document analysis can be a type of qualitative research. / [ASIEEACRELL] UTHD MY HT YHR & IH1 g |
[Option ID = 38198]

3. It is a unitary approach following the steps of positivistic research. / g YI&ATS! MY & 0N P U aral
THTHS IUTTH & | [Option ID = 38197]

4. It is based on phenomenological paradigm which uses a variety of interpretive research methodologies. / I8

YT dTHe UfaH W 3nemid g S fafay saremerss 2y faftrt &1 SuahT #ar § | [Option ID = 38195]

Correct Answer :-
« It is based on phenomenological paradigm which uses a variety of interpretive research methodologies. / dg

HeT e Ufaa IR 3nUTRd g Sl fafay sareareres <y fafial o1 SuiT =ar € | [Option ID = 38195]

6) Which of the following is incorrect about Normal Probability Distribution?

frafafaa & @ S9-91 Y= IH= UTiiedr 9% & e Tad g ?
[Question ID = 24553]

1. When the Normal Probability Curve is symmetrical, the mean, median and mode have same value. / Sid JH

IehaT ash THRT BT 8, HIed, HIfeehT 3R 9gad &l HIH YW 8Id1 § | [Option ID = 38210]



2. If the distribution is divided into two equal parts then one half is above the mean and the other is below the
mean. / Tfe sc &1 & TAM ot & fauTer fasar ome df siem Areg & SR g 3R GIRT St fgw anen @ =
BT | [Option ID = 38207]

3. The probability of an event occurring between the mean and +1.00 S.D. is 0.343. / HI¥g 3R +1.00 AFSH
faera & 9 gfed 81 arelt geT & Uifiear 0.343 § | [Option ID = 38208]

4. The Normal Probability Curve is limited from +3.00 S.D. to -3.00 S.D. No case falls outside this limit. / ITH
IR dT I +3.00 AFS fageH ¥ -3.00 AHS faga de Hfid 81 His &g 39 W1 & a6 3aryd gl gidr |
[Option ID = 38209]

Correct Answer :-
« If the distribution is divided into two equal parts then one half is above the mean and the other is below the

mean. / fe s &1 & IHH el & fauTer faram ST ot aner Aty § SR R SR gaRT 3yt fewan are §
= 81T | [Option ID = 38207]

7) Which of the following branch of philosophy would examine moral values, standards of ethical
behaviour, and values in beauty and art?

fFrafafaa # T oxiF 3 Fi9-d wrRar Afos geal, Afae ageR & AFe) 3R Year vd a1 & gl 1
TIYEHur B § ?

[Question ID = 24593]

1. Epistemology / STH-HIHT [Option ID = 38367]
2. Logic / TR [Option ID = 38370]

3. Metaphysics / dxd-HIHNIT [Option ID = 38368]
4. Axiology / HBI—IﬂﬂTHT [Option ID = 38369]

Correct Answer :-
« Epistemology / JH-HIHET [Option ID = 38367]

8) Which of the following branches of philosophy would engage with the question- *On what do we
base our knowledge of the world and our understanding of truth’?

ST & Ufd AR I 3R 9 & Ufa gARY A &1 371 YR giaT g ? Fufaf@d & @ gz & Sia- wmran
YUY A IS e?

[Question ID = 24579]

1. Epistemology / =-HIHRT ¥ [Option ID = 38311]
2. Metaphysics / d<d-HHT ¥ [Option ID = 38312]
3. Aesthetics / G<d-HIA/T ¥ [Option ID = 38314]
4. Ethics / Ifa=md ¥ [Option ID = 38313]

Correct Answer :-

« Epistemology / STH-HH™IT ¥ [Option ID = 38311]

9) Which of the following is not considered gender stereotyping?

Frafafaa 9 3 A Ssv wieagar T8 arF= orar ?

[Question ID = 24588]



1. An advertisement where the woman handles work, home and kids. / o faqmoe fores Afgan h1H, T 3R W
%I 37t g | [Option ID = 38348]

2. A children’s book where the father does household chores. / S & T foraH fUdT TR BT HTHDTS HRAT | |
[Option ID = 38349]

3. A television program in which doctors are males and nurses are females. / QTCIQT’I HRIHH forH Sldex gy g
3R ¥ gfgamd | [Option ID = 38347]

4. A movie in which the hero always saves the heroine from danger. / T, fS/aH Tra® U ATRI®T & TR A
91T ® | [Option ID = 38350]

Correct Answer :-

« A television program in which doctors are males and nurses are females. / GXG=H Frdwd forad Slaer oy
® 3R =& Afget | [Option ID = 38347]

10) Which of the following is not a valid dichotomy pertaining to research in education?

fFrafafea & T Rren A My & Jay & F-91 fgUsT U T8 7 |
[Question ID = 24561]

1. Objective-Subjective / T¥S-fa¥TY [Option ID = 38241]

2. Longitudinal-Horizontal / &Iﬂﬁﬂf -gfast [Option ID = 38242]

3. Empirical-Philosophical / 3THfd@-gRia [Option ID = 38240]

4. Quantitative-Qualitative / UﬁTITU]W-ﬁUTW [Option ID = 38239]

Correct Answer :-

« Quantitative-Qualitative / GRATUTAHGB-TUNES [Option ID = 38239]

11) Which research method is also called as ‘Practitioner’s’ research?

v My-vgfa &1 gfus My i srrwmEar @ 2
[Question ID = 24569]

1. Historiography / 3fdgT-aRa @Y [Option ID = 38274]

2. Experimental research / TORTIHSD [N P [Option ID = 38273]
3. Ethnographical research / :I-Gﬂ'cﬁﬁ MY B [Option ID = 38272]
4. Action research / fohaT&® MY BT [Option ID = 38271]

Correct Answer :-
« Action research / fohaTE® MY BT [Option ID = 38271]

12) Which one of the following statements is correct about interactionism?

frafefad & @ SH-91 $Y9 sFa=afpamaK & fAug d Ig e ?
[Question ID = 24584]

1. Itregards society as a system, hence it is sometimes referred to as systems theory. / g JHIS P AR
A § 39fere 39 S - srae-Riga & IR W Ay fasan S 8 | [Option ID = 38332]

2. It usually rejects the notion of a social system and so it does not regard human action as a response or
reaction to system. / gg HMHC: TSI HTRIT B Wﬁmm%aﬁ?sﬂﬁqwmaﬁ
SfhAT YT AR & Ul 3fehaT & =0 | g1 Tl | [Option ID = 38333]



3. It offers a general explanation of society as a whole and as a result is sometimes known as macro theory. /
g YUY U J JHTS ! YHRI AR TR Bl § 3R IRumRaGEy Hi-wft Rigidl & wu o S smar g |
[Option ID = 38331]

4. It tends to see man'’s behaviour as shaped by the norms and values of the social system / Bt R & HIER
DI IS FGRIT & AFDI 3R T GRT TGT §HT <& BT UGRT 8icil § | [Option ID = 38334]

Correct Answer :-

« It offers a general explanation of society as a whole and as a result is sometimes known as macro theory. /
I T U § IS &1 I IRSAT TRdd Bl § 3R TRUMRGRY FH -t Rigial & =0 & S ot §
| [Option ID = 38331]

13) Albert Bandura considers .......cciereiminurarases as a person’s expectancy of how effective his or her
efforts to accomplish a goal will be in any particular circumstance.

ot fafRry uftfRufa A fanlt g &t wifta & fore fanelt aafdy & ware fpam wuTd 81, & ey o SUat
AT P TS TG cuvereresrarenns UHarg |

[Question ID = 24591]

1. self-efficacy / TH-THTAIATGHT [Option ID = 38362]
2. self-esteem. / TH-THTT [Option ID = 38361]

3. self awareness / TH-SITRsDhdTl [Option ID = 38360]
4. self-image / 3H-BII [Option ID = 38359]

Correct Answer :-
« self-image / 3TAH-Bfd [Option ID = 38359]

14) A distribution is said to be "skewed” when the mean and the median are at different points in
the distribution. Which of the following statement is not correct with respect to skewness of a
distribution?

fpdt de1 o1 a9 “fAun” Fe1 STaT § 99 wre 3R WiftsT ded F uF-fim g wad § | Fafafaa 7 a
e & AU & HaY B DIF-I1 HYT g T8 8 ?

[Question ID = 24556]

1. Distributions are said to be positively skewed when scores are accumulated at the high end of the scale (Right
hand side). / Sicl T 4TS T I fITH HET 91T & e UTdich AU & 3= SR (SR TRW) W bg 81 o
& | [Option ID = 38220]

2. A distribution is said to be “skewed” when the mean and the median are at different points in the distribution./
§e & fqw w8l ST § o9 W SR Wit deq & fafid fageff R g1 § | [Option ID = 38222]

3. In a normal distribution, the mean equals the median exactly. / 9H=I §c T O1eg AfeesT & ﬁm ERERE G
% | [Option ID = 38219]

4. The more distributions approach to the normal distribution, mean and median gets closer to each other. / Sid

§e YT sed & Y FAde id §, T SR WifeesT Uh-gar & 3ifie Tifig o oid § | [Option ID = 38221]

Correct Answer :-

« In a normal distribution, the mean equals the median exactly. / 9THNI s T O1eg AT & ﬁﬂﬁ RTR
BT § | [Option ID = 38219]



Manisha says “"milk” whenever she wants her milk from the kitchen . Subsequently, she says “milk”
after she has had a drink. Using a single phrase to mean different things is an example of:

TfreT o ot FEISHR | gy’ ATl § 98 'gY’ Feel € | W € o9 98 $© o oft ff &t B @@ it g € weeht
? | faftr el & e uer € Iuarey T waT H1 ISTERI R ¢

[Question ID = 24587]

1. holophrase. / BIdIhS &I [Option ID = 38345]

2. private speech. / U1gde Wig &1 [Option ID = 38344]
3. public speech / GfstTd ¥ &1 [Option ID = 38346]
4. telephrase / CTlUSl &1 [Option ID = 38343]

Correct Answer :-
« telephrase / <AIThSl BT [Option ID = 38343]

16) In a quantitative data, a researcher can improve validity of the research work:
I: through careful sampling.

II: limiting the variables.

III: choosing appropriate instrumentation.

IV: applying appropriate statistical treatments of the data.

Which among the following is true?

TR o IRl 8, Redl Y F duar ¥ GUR R AHarg
I AraeTigut giaaas |

II 91 &I Hifid s

III IUGFd SUBRUN PT TIq XD

IV &9 9Tl & e Suged Tifereta Aeuon &1 Sy #d
Ffafafea ¥ P-aTaa e ?

[Question ID = 24559]

1.Tand III / I 3R III [Option ID = 38234]

2.1, I &IV /I, IIT 3R IV [Option ID = 38233]
3.1, I & III / I, II 37R III [Option ID = 38231]
4.1, 11 & IV/ 1, II 3R IV [Option ID = 38232]

Correct Answer :-
e ILIIKIII/I, II 3R 111 [Option ID = 38231]

17) In a research hypothesis, stated as, ‘the higher the income of the parent, the better the job
prospects of their children’, which of the following is true?

TY-UTFH T ATHUTTH Bt 3 fora=it 3 ghfY, 3% =i & forg AR &t UGS 9gar gy, &
el d @ dd sra e ?

[Question ID = 24566]
1. Both are dependent variables / S ST TR % | [Option ID = 38262]
2. Both are independent variables./ &I ¥ TR § | [Option ID = 38261]

3. Income of the parents is an independent variable and job prospects is a dependent variable./ SHHTEH] P 3T
Wi W g 3R AR BT HHTGHT M =R § | [Option ID = 38259]



4. Job prospects is an independent variable and income of the parents is a dependent variable./ ISR P FHTET
Tdd TR § SR AHTaD! B 3mF M3 @R 8 | [Option ID = 38260]

Correct Answer :-

« Income of the parents is an independent variable and job prospects is a dependent variable./ SHTGD! B
3T WA TR & 3R ISR BT YHTGAT 3f3d TR § | [Option ID = 38259]

18) According to Sternberg, "book smarts” is another way of talking about which kind of
intelligence?

T F TUR ‘g VT §fS & 59 TPR & IR T 910 B BT gORT aIPb1 8 ?
[Question ID = 24586]

1. Analytical. / faSqUTEH® [Option ID = 38339]

2. Practical. / 98T [Option ID = 38341]
3. Functional fixedness. /WWEI@?IT [Option ID = 38340]
4. Emotional / 9idfI& [Option ID = 38342]

Correct Answer :-
« Analytical. / fTOSAUMES [Option ID = 38339]

19) “A research design allows the investigator to draw causal inferences and observe, with
relatively little difficulty, whether or not the independent variable causes changes in the dependent
variable.”

Which of the following research design is under description in the above statement?

“TH MY ATHBT TP B AULTHT HH HiSTS P AT FRUTHS [py fHbTeq 3R Neur w31 & Heg
Pl ¢ for Wawa TR e =R ) ulafda @ & sruar 18t 1~
Swiwd wyA A Frafafaa % @ e iy sifiees o1 avfa fearmar g 2

[Question ID = 24546]

1. Case-Study based Research Design / ?ﬂ%ﬁﬁ ST MR MY SfNHeT BT [Option ID = 38179]
2. Exploratory Research Design / YT Y 3 HeT T [Option ID = 38182]

3. Experimental Research Design / TN QMY AT BT [Option ID = 38181]

4. Survey based Research Design / Ta&0T 3TeTRd e 3ifNeed HT [Option ID = 38180]

Correct Answer :-
« Case-Study based Research Design / Sfadad HeHd- SMUTRT MY 31fHHed BT [Option ID = 38179]

20) Educational institutions and industry, both in the public and private sectors, should ensure
equitable treatment to persons with disabilities because:

Frdwfe 3R et ST ot W Afdre Wi 3R ST &1 srRraaarsit god aafeaal & [Ty rhEa
AER G HT 1T Rife

[Question ID = 24573]

1. 'state' has the respon.sibility to ensure access to all spheres for persons with disability. / 3RTaddl ok Hfeqal &
fo ot &t de uga GRFET HAT I $T &A@ § | [Option ID = 38288]



2. the persons with disability will easily follow all the orders and can be easily controlled. / 3RTaddl Jad fad gt
TN BT JEoldT I TTA BT 3R I8 3 F Fafd fpar ST g6ar 8 | [Option ID = 38290]

3. the person with disability can be hired on low emoluments. / 3RTaIdT gad Afad &1 HH TIRHHG TR HH W)
T ST Gl § | [Option ID = 38287]

4. it will enhance the social image of the private organisations. / Y sl Tl & amiivie 3fa Elé'fﬁ | [Option
ID = 38289]

Correct Answer :-
« the person with disability can be hired on low emoluments. / 3RIdddTl gad Hfad Bl HH TIRYHS TR HH TR
TGT ST G § | [Option ID = 38287]

21) If a type of sampling consists of selecting every Kth sampling unit of the population, after the
first sampling unit is selected at random from the total of sampling units it will be:

gfe ufeesl 9u9 & sl R A pa ufaaa= soEal @ gun ylaeed 3918 & aRfe IR WA T F a1g
Tuf® ¥ | yd® Kh ufoaa so18 &1 99+ Wit g, o 98 9a= g :

[Question ID = 24547]

1. purposive sampling / @%@mﬂﬂ? [Option ID = 38184]

2. systematic sampling / Ay ufae=f T@ [Option ID = 38186]

3. convenient sampling / @Wm?ﬂ:{ [Option ID = 38183]
4. random sampling / grefas® Ufaayl 994 [Option ID = 38185]

Correct Answer :-
« convenient sampling /ﬁﬁ?ﬂwm?ﬂ:{ [Option ID = 38183]

22) Amit's mother was upset to find that Amit had not picked up his building blocks after repeated
requests to do so. The next morning, Amit found all his blocks had been picked up and put into a bag
on the top of the refrigerator. Amit’s mother told him that he could not play with his blocks for the
next two days. Which type of discipline did she use?

3 &Y 0t g8 PR W N fF IR-IR Fg W ff 3iffra 7 oA RIfST st =8t I81e A | 3pTeft gare
Sfira A U for Sud it s I fore 7Y A iR U & H STad: fihd & SR 7@ o e A | it #t |t
A ITY el % 98 FTA ) fa7T 9% I 8} Ve IHaT | 3T frd UPR F STRIH BT WaRT 5 2

[Question ID = 24595]

1. punishment by removal / 3{U8- §RT ¢S &I [Option ID = 38377]

2. punishment by application / GI&T@‘TWE_S’W [Option ID = 38376]
3. negative reinforcement / ThRIHD QEIETT*H [ [Option ID = 38375]
4. positive reinforcement / JHRTHD FEEYT'H DT [Option ID = 38378]

Correct Answer :-
« negative reinforcement / FPRIHD gﬂafﬂﬂ DI [Option ID = 38375]

23) Friere's' Pedagogy of the Oppressed ‘seeks to transform individuals from being objects of
educational processes to subjects of their own -------====-ccu-- and emancipation.

ThY BT “gferdl o1 Riamma afwal o Afdre ulharsit o1 fava a7 Y SR T T B/ BT vvereerernns AR
i & favdt & =0 & wuiaRa s arganr @ |



[Question ID = 24576]

1. Pedagogy / fRI&TRIRE [Option ID = 38301]
2. Autonomy / AT [Option ID = 38300]
3. Liberty. / ¥Td= [Option ID = 38302]

4. Life / STtaT [Option ID = 38299]

Correct Answer :-
« Life / Sld [Option ID = 38299]

24) Who amongst the following would believe that “critical consciousness requires recognition that
an individual’s social status, including educational and economic expectations and opportunities, is
largely determined by race, ethnicity, gender, and class”?

frafafad 3§ @ o9 g aa f$ arfhe T &1 59 A=gdT 91 maggedT gl & o afea-faiy 91 Afée
gRT ?

[Question ID = 24580]

1. Pragmatic thinkers / STdgIR® fidd [Option ID = 38316]

2. Logical positivists / TTfd>ep TA&ETE! [Option ID = 38315]

3. Critical theorists / STAEHIH® RIGid®R [Option ID = 38318]
4, Social constructivists / graTfore fAfiffaard [Option ID = 38317]

Correct Answer :-
« Logical positivists / dlfdhes Tge&rardl [Option ID = 38315]

25) To know the overall trend of the goals and aspirations of government school children, the most
appropriate method would be:

WHR! faemay & g & @A 3R srwiena adh T3 &) gl w0 A 9+ & i waifte Suge fafy
Brft -

[Question ID = 24564]

1. Case-study / SfdIad 3{&4g [Option ID = 38251]

2. Experimental research / TN QMY [Option ID = 38253]

3. Survey / Hd&UT [Option ID = 38252]
4. Causal-comparative research / ®RUTHD-JATHD MYy [Option ID = 38254]

Correct Answer :-
+ Case-study / Sfddgd & [Option ID = 38251]

26) In which of the following tests non — parametric statistical treatment of data is done?

frrafafaa & @ S9-a1 e g Il & -y Jifersa fAegu & e fear S g 2
[Question ID = 24551]

1. Analysis of Covariance / T8 U¥RUI [d=eIwuT [Option ID = 38202]
2. Factor Analysis / T[UTid fI=eINUT [Option ID = 38200]



3. t-Test / t-URI&f0T [Option ID = 38201]
4, Chi Square / PIE-WHIX [Option ID = 38199]

Correct Answer :-
« Chi Square / BTs-THTR [Option ID = 38199]

27) Type II error can be minimized by:

T13Y 11 Ffe Y <gAaw f5ar &1 adar @ -
[Question ID = 24560]

1. reducing the level of significance. / gt P TR B geTHR [Option ID = 38237]
2. changing the sample size. / fdesl & 3T &) SeaaR [Option ID = 38236]

3. replacing the instrument. / JUHRTT B TGAB [Option ID = 38238]

4. increasing the level of significance. / rfrdT TR & deldhR [Option ID = 38235]

Correct Answer :-
« increasing the level of significance. / IrfhdT TR ﬁw [Option ID = 38235]

28) In the APA (6th edition) citation style, APA stands for

APA (ST TTHIT) IUT Aeft # APA T ?
[Question ID = 24570]

1. Asian Psychological Association / Asian Psychological Association [Option ID = 38277]

2. Australian Psychological Association / Australian Psychological Association [Option ID = 38275]
3. American Psychological Association / American Psychological Association [Option ID = 38278]
4. African Psychological Association / African Psychological Association [Option ID = 38276]

Correct Answer :-
 Australian Psychological Association / Australian Psychological Association [Option ID = 38275]

29) Consider following two statements about scales of measurement and tell which scale fits both
the statements?

Statement I- Scores are expressed in equal units.

Statement II- There is a true zero from where the measures are taken.

W 90 & A & Hay & fF $YF A U 7 | FA-11 TUET S FYE & A9y F Iuga B ?
YT I -UTWiP AT P10l A Sifouad fPu e § |
HY II -T0H R IRafd® ok gaT @ wief @ Arg g e § |

[Question ID = 24555]

1. Nominal scale / ATf#d AT [Option ID = 38218]
2. Ratio scale / 3JUrd AT [Option ID = 38215]

3. Ordinal scale / qu:ﬁ [Option ID = 38216]
4. Interval scale / 3fcRTd AT [Option ID = 38217]

Correct Answer :-



 Ratio scale / 3Urd AT [Option ID = 38215]

30) Match the following:

1. The cognitive schemas used by social perceivers i) Stereotypes
to process information about others.

2. It can be typically conceptualized as an ii) Prejudice
attitude that has a cognitive component.

3. It is about denying individuals or groups of iii) Discrimination
people equality of treatment which they may wish.

4, It refers to inappropriate and potentially unfair

treatment of individuals due to group membership.

fFrafafea | fiam Fifr

1. g & fawa & ga=1 wehwur & forg wmrfore i) TeU=U

TEUIHTISHT GRT WG HHHIHS THAT

2. 39 AR W W fgfy & Fu ¥ Tofera fHar i) gdue
ST g, o IyTeH® ued 8l

3. 9% wfea a1 Afeadl & JYg §RT 5io5d yagR iii) faveT
P FHFCT I THRAT &

4. U AP AGdl & SR AfGTAl &A1Y YT SJugad
3R g saER @t Afdy Hear 2
[Question ID = 24583]

1. 3 (i) 2 (ii) 1 (iii) [Option ID = 38329]
2. 1 (i) 3 (ii) 2 (ii) [Option ID = 38330]
3. 1 (i) 2 (ii) 3 (iii) [Option ID = 38327]
4.2 (i) 1 (ii) 3 (iii) [Option ID = 38328]

Correct Answer :-
e 1 (i) 2 (ii) 3 (iii) [Option ID = 38327]

31) ‘Hypothesis’ in research is a:
ot =y o wem e —
[Question ID = 24557]

1. factual statement. / AATHD $2H% | [Option ID = 38224]

2. tested statement. / TRIf&d HUT | | [Option ID = 38225]

3. conjectural statement. / 3FHFTEIRA &Y= § | [Option ID = 38223]
4. recorded statement. / 3IRIT HYT § | [Option ID = 38226]



Correct Answer :-
» conjectural statement. / 3JHTTY XA HYTE | [Option ID = 38223]

32) Kurtosis of a frequency distribution of a research data is less than 0.263, then the distribution
[

Y-S B ATGRT 3T Pt PHaal 0.263 A HH gl dl SATae gHI —
[Question ID = 24565]

1. Leptokurtic / g7 ddal [Option ID = 38258]

2. Platykurtic / WWFT [Option ID = 38255]
3. Skewed / fa&H [Option ID = 38257]

4. Mesokurtic / % ®dal [Option ID = 38256]

Correct Answer :-
« Platykurtic / 99T el [Option ID = 38255]

33) Fatima has got a new cell phone number, but finds herself giving her old one when someone
asks her for it. This is an example of

?WTﬁWWWWW%W%M?%W%WWWWﬁ%H%IWW

[Question ID = 24590]

1. memory trace. / Sfd BTU &T [Option ID = 38357]
2. memory decay. / F{ﬁf B DI [Option ID = 38358]
3. proactive interference. / SUEl gE&Y BT [Option ID = 38355]
4. retroactive interference. / Jaa&ll 8¥d&YT &I [Option ID = 38356]

Correct Answer :-
« proactive interference. / 3{Uceil gWKaY BT [Option ID = 38355]

34) What is the relationship between negative reinforcement and punishment?

TPRTAS JAaa 3R &8 T FT Hay @ ?
[Question ID = 24589]

1. Both tend to weaken a response. / I 3igfoha DI HHAR B Bt EI| gIcit § | [Option ID = 38352]

2. Both tend to strengthen a response / | GF;’W G2l J<e P DI El?ﬁi gt % | [Option ID = 38351]

3. Negative reinforcement weakens a response while punishment strengthens a response. / TR RIHD l:]ﬁ@ch
3T B FHTIR BT § T &8 SHIfehaT B Yeg HRal ¢ | [Option ID = 38354]

4. Negative reinforcement strengthens a response while punishment weakens a response. / THRTHSD gﬂéﬂﬂ

3T BT Yeg IRl & Taih <8 ST B HHWR Hal ¢ | [Option ID = 38353]

Correct Answer :-

« Both tend to strengthen a response / @HI § 3{3fhaT & g B S UgRI 8t § | [Option ID = 38351]



35) A child with linguistically different background studying in grade two (in a class with majority
speaking same language) is appearing for assessment. Which of the following would be the most
suitable approach during the process of assessment?

T U U gRYfi a1d o= (I T4 | WIeTaR a= U HTHT Sidd 8) BT ol B&T af | Ugdl 3, Geaidd
forar o 8 | Fafeafaa § @ S19-91 Sur geaied ufear & fore waifire Sugea ghm 2

[Question ID = 24575]

1. Child should be asked to learn the language of majority of students before assessment. / H@W | uﬁaér Cal
P b SR Fwdl B! TN WG o [T FHaT ST 1T | [Option ID = 38296]

2. Parents should be asked to make the child learn the second language for assessment. / ATcT-fUar el ol
TR % S B Yot & forg gust |t R | [Option ID = 38298]

3. Assessment should be done in the language of the majority of the students of the class. / HECIW He &b
SR sl T |1 | fosam S =g | [Option ID = 38295]

4. Assessment can be conducted in child’s first language. / Hedidh S &t GYH HTST H {351 ST WebdT § | [Option
ID = 38297]

Correct Answer :-

« Assessment should be done in the language of the majority of the students of the class. / Hedih BEf &
SIS sr=ll Pt YT F a1 ST A1f8T | [Option ID = 38295]

36) Man is born free but everywhere in chains. So freedom not being absolute, who said “"Freedom
entails responsibility”?

T 0T T © fobeg 8% T 98 au A dU1 @ | 3ra: Taaar Sfifia gl 8 | o ug frua w1 fh
"IAAT SRR AP STt 7 17

[Question ID = 24571]

1. Sri Krishna in Bhagvad Gita. / 4Tagidl § i1 = [Option ID = 38279]
2. Sri Aurobindo. / %t 3Rfdg 3 [Option ID = 38280]

3. 1.J. Rousseau. / 3. Sf, =1 = [Option ID = 38281]

4, Jean Paul Sartre / T Ut 9 o [Option ID = 38282]

Correct Answer :-
« Sri Krishna in Bhagvad Gita. / ¥7Tdgtal & i1 9 [Option ID = 38279]

37) Right of Children to Free and Compulsory Education (Amendment) Bill, 2019 states that :

I. Child can be expelled from a school before the completion of elementary education.

I1. There shall be a regular examination in the fifth class and in the eighth class at the end of every
academic year.

II1. The appropriate Government may allow schools to hold back a child in the fifth class or in the
eighth class or in both classes

IV. If a child fails in the examination, he shall be given additional instruction and granted
opportunity for re-examination within a period of two months from the date of declaration of the
result.

1:310® wd sifrard ara Rien siferR (=it faa, 2019 & AR

I 99 $ YRR Rren @1 It | qd faemay @ Freefa fra sraswar g |

IL. YA APIGIa® a9 & 3id & urad! 3R smadt weam & fafia wden g afde |

III. JYRId TReR faemeral & uTadl sryar Smadt da & Sryar gl wemsil # Ae &) srgufa S Jad 3 |



1v. af¢ @5 T uien § rxhivl giar @ ot 3% sifafvad srex 3R ufvoma & wiwon ot fafy & of urg #t
3afy & WaR [ddien &1 s faan s anfge |

[Question ID = 24594]

1.0OnlyIandII/ FId I 3R 11 [Option ID = 38371]

2. Only II, 111, and IV / %ad II, III AR IV [Option ID = 38374]
3.0nlyL, Mand IV/ &ad I, II R IV [Option ID = 38373]

4. Only I, II, and III / Fad I, I 3R III [Option ID = 38372]

Correct Answer :-
« OnlyIand II/3dd I 3R II [Option ID = 38371]

38) Hypothetical-deductive reasoning develops in

UTFPeUATIR® AITHATHS diichedl o7 f[IPbTg gidl & —
[Question ID = 24577]

1. concrete operational stage / T GfshaTa®AT & [Option ID = 38304]

2. pre-operational stage / E[a;ﬁWﬂff [Option ID = 38305]

3. sensory motor stage / Tad IRP sra= o [Option ID = 38303]

4. formal operational stage / i dfgparawyr & [Option ID = 38306]

Correct Answer :-
« sensory motor stage / Tadl TR 3T H [Option ID = 38303]

39) The curriculum planning at any level of education should include the diverse socio-personal
experiences of the students because:

Rren & fdt W TR W ureTat e | Rienfial & fafyuarngf awe - dafdas srval < wnfia fear
T AT RNt

[Question ID = 24574]

1. it is significant for engaging them with new ideas and ways. / R A CEIR| 3R Tl & Iy It fHar s
YUl § | [Option ID = 38291]

2. it is important to appease the communities for the purpose of gaining votes./ Td UM & Yo o TG &1
YR HIAT HE@YU! ¢ | [Option ID = 38294]

3. the students are not interested in learning anything other than their own ideas. /ﬁ%ﬂtﬁ&lﬂﬁ BEIRCEINE:T
Sffaftad F& +t 3R dra=m =&Y Tmgd | [Option ID = 38292]

4. the parents and communities are against including experiences other than that of their own community./
YUTTDH SR TG U T & Sifaiad 31 THEr! & Hal Pl AT B & f3%g ¢ | [Option ID =
38293]

Correct Answer :-
« it is significant for engaging them with new ideas and ways. / 3= =T faaRI 3R de! & WY Joy fvar ST

Hewyuf § | [Option ID = 38291]

40) The effect of Kant’'s pedagogical method is to lead the child to :
I: The realization of its own freedom;
II: Determination by another must be transformed into rational self-determination;



III: Primacy of theoretical over practical learning.

PI0C B Ry f&afy o1 yHE 72 F) SRR AT e :

I: TP WU B! Wa~dl & eI Bt 3R

I1: 39 gIRT fAefRor & smawge v W aifde sna-fAeiRor # siafva g9 &t 3R
III: TGN 3RATH R Agifae RATH $Y yr=dr &1 3R

[Question ID = 24572]

1. I1 & I11 / 11 3fR III [Option ID = 38284]
2. 1&III/ I 3R III [Option ID = 38283]
3. 1&1II/ 1 3R II [Option ID = 38285]

4. only III / %ad III [Option ID = 38286]

Correct Answer :-
o TRIII/I 3R 111 [Option ID = 38283]

41) The main contribution of Bourdieu’s work in education lay in the development of a broad theory
to explain the reproduction of:

gﬁ%qaﬂ%ﬁmﬁmmma@mmﬁﬁmwﬁwm%mwﬁmﬁ
?

[Question ID = 24582]

1. economic and political inequalities through class, and the legitimation of these inequalities through
misrecognition. / I & 3MYR TR 3N 3R IASfAH A 3R 39 SFAFAISH &) Tad AT SH
3¢fieHR0T & [Option ID = 38325]

2. economic and political inequalities through class, and the legitimation of these inequalities through recognition.
/ T & YR WR 3 3R Iomfae SHFAN 3R 39 SRFHMI3T &1 Aar SR 34IHRUr & [Option ID =
38324]

3. cultural and social inequalities through education, and the legitimation of these inequalities through
recognition./ fRI&M & YR R IRGA® 3R FHIS SRAHFAN 3R 37 AT B AT SR defeor &
[Option ID = 38326]

4. cultural and social inequalities through education, and the legitimation of these inequalities through
misrecognition. / fI&T & SMUR TR WRBTAH R MG SHMATE 3R §7 SHFAIST BT TTed AT SR
3tfieR0T & [Option ID = 38323]

Correct Answer :-
« cultural and social inequalities through education, and the legitimation of these inequalities through

misrecognition. / R & YR TR Aplad SR TS SR 3R 37 RIS B Terd AT Sh
34fieBRur & [Option ID = 38323]

42) The concept of schema has its historical roots in ......cccoriranenranns philosophy.

THIT BT STYRUN BT UfABTTRIP TS vevvrererersen HIREAAE |
[Question ID = 24578]

1. Berkley’s / §&d [Option ID = 38310]
2. Hegel’s / 87T [Option ID = 38307]
3. Plato’s / @iel [Option ID = 38308]

4. Kant's / &TUC [Option ID = 38309]



Correct Answer :-
+ Hegel's / 8TdT [Option ID = 38307]

43) The word 'positivist' seems to refer to those accounts, which study systematically what is

‘TeErdl’ eg 39 faavon &1 fAfEy S=ar udia giar & S uafRid U 9 g 3eug= &d1 ¢ & &
[Question ID = 24581]

1. hidden, abstract and cannot be observed directly./ TS, 3 3R Ugefd: Yeofta 781 § | [Option ID = 38320]

2. bound to give positive contribution to the society. / JHNS T YHRIAD NG o1 & o8 93 = [Option ID =
38321]

3. clear, factual and open to observation. / T, TATHS 3R V&0 § | [Option ID = 38319]

4. clear, abstract and open to observation. / ¥y, IKT 3R Deoiy % | [Option ID = 38322]

Correct Answer :-
« clear, factual and open to observation. / T¥, THTHD 3R T % | [Option ID = 38319]

44) The key difference between ‘bibliography’ and ‘references’ is:
YL 3R - # gy v @ -
[Question ID = 24562]

1. They both should be listed separately to show the rigor of the study./ J&Ig+ DI BiSd I G/ & o gl
DI gYH ¥U Y Jailds (b1 ST 18T | [Option ID = 38246]

2. They are interchangeable terms./ 3 G TRER URTd-1T UG § | [Option ID = 38245]

3. The latter includes all readings, whereas the former includes only the cited ones./ dlq g o 9t ure-3ue
M Bid ¢ Safds Ugdl arel § dhadd 3gYd UTS-TUE &l A 81 & | [Option ID = 38244]

4. The former includes all readings, whereas the latter includes only the cited ones. / Tgd H 9} UT3-Tug 2w
B1d § Waf% a1¢ ard H FHad IeYd Ue-TUg & A 81d € | [Option ID = 38243]

Correct Answer :-

« The former includes all readings, whereas the latter includes only the cited ones. / Ugd | gyt ure-3ue
M gd § Safd a1 a1 | had IgYd UIS-TUe & WMAS 8 & | [Option ID = 38243]

45) The following is a list of topics suggested for research. Which one of the following topic is not
appropriate for ethnographic studies?

1 T My & e g T oo fawal @1 Gt @ 1 399 S pi-ar favg e srerae & fore Suged 8 @

[Question ID = 24549]

1. Studying students — teacher relationship in a rural primary school / e urufies faemag o faemf-Rrems ey
DT AHHT [Option ID = 38191]

2. Studying effect of media coverage upon the outcome of demonetization / fdggIdRur & TRoMEl W Hifgar Havs
& YHTT P 34T [Option ID = 38194]

3. Studying social relationship in a class of emotionally disturbed children / IAMHS TT T WA JAD] Pt DHefl
T QST &Y BT 3 [Option ID = 38193]



4. Studying the changes in attitude and behavior in a drug abuse rehabilitation centre / AR ot garef o ﬁ%‘d
faqal & e gafg g § 3@ ifHghy 3R yagR & uRadi &1 31er@H [Option ID = 38192]

Correct Answer :-

« Studying students — teacher relationship in a rural primary school / JTHYT UTufiies faemera # faemeif-Riers
TdY DT 3T [Option ID = 38191]

46) The mean and standard deviation of a set of scores are 80 and 12 respectively. If each raw
score is increased by 4 then new mean and standard deviation would be:

3P & TH T BT AT 3R WS fage 4= 80 3R 12 3 | afe s IyTE IS Fi 4 91 faar sy
A O W R uEE fawad g -

[Question ID = 24554]

1. 80, 16 [Option ID = 38212]
2. 80, 12 [Option ID = 38211]
3. 84, 12 [Option ID = 38213]
4. 84, 16 [Option ID = 38214]

Correct Answer :-
« 80, 12 [Option ID = 38211]

47) A researcher should use large sample size when:

I: there are many variables to study.

II: the sample is heterogeneous in terms of the variables under study.
III: reliable measures of the dependent variable are unavailable.

IV: there are enough financial resources.

Which among the following is true?

Mypdl B 93 Ufdeel &1 STUNT ST 91fe, o9
I 3eHg_ & forg 3 TR &l |

II 3ieaaq & forg ufaest # == faemrdia & |

ITI 3f3d =R} & fore fAywig aue Iuasy 7 &8 |
IV i fa=iig Same= Suers 8 |
fafsfRad I e-aTag e ?

[Question ID = 24558]

1. 1&III / I 3R III [Option ID = 38229]
2.1&I1/1 3R II [Option ID = 38230]

3.1, 11 & III / I, II 3fR III [Option ID = 38228]
4.1, 11 &1V /I, II 3R IV [Option ID = 38227]

Correct Answer :-

« I, II&IV/I, II 3R IV [Option ID = 38227]

48) Phenomenology has its disciplinary origin in:

TRUYCHAT fag &7 SR ga @ :



[Question ID = 24585]

1. Anthropology / 71@3!1’*[ T [Option ID = 38336]
2. Psychology / AHIfG  [Option ID = 38338]
3. Sociology / THISIRIRA H [Option ID = 38337]
4. Philosophy / =9  [Option ID = 38335]

Correct Answer :-
« Philosophy / &2 # [Option ID = 38335]

49) You are shocked to hear that two of your coworkers who seemingly hated one another are now
getting married. According to Freud, what defense mechanism best explains their prior behavior?

3T 5 919 B GAPR 07 ¢ [ 3UP & TeHHI ol TP-gaR | THId Hd Ueild gid 4, g Rag @ & |
WIS & TAR BIF-UT YR &T-d3 3% Ydad] AdgR BI TP HaT § ?

[Question ID = 24592]

1. Regression / WfcTE+ [Option ID = 38366]

2. Projection / H&TUT [Option ID = 38363]

3. Repression / ©H [Option ID = 38364]

4. Reaction formation / Ufaforal-faem [Option ID = 38365]

Correct Answer :-
« Projection / J&TUT [Option ID = 38363]

50) You are a teacher in a secondary school and you find your students very creative. How would
you study the link between their creative expression and their academic achievement?

3T Jhsd faemay & Riere € ok mus! = faemdf sga go-rare @ € | 3 3@ JoTd®
SfireafaT 3R 39 Aeifdred Iuafes & Way &7 eay— FQ B3 ?

[Question ID = 24563]

1. By trend analysis / Wgfi fa=eiwor ¥ [Option ID = 38247]

2. By correlational research / 9gddUTH® My g [Option ID = 38249]

3. By causal-comparative research / PRUNHDB-JITTHD my g [Option ID = 38248]
4. By semi-projective techniques / Sef-yadt amie! 4 [Option ID = 38250]

Correct Answer :-

o By trend analysis / Elqﬁl IEESLLE [Option ID = 38247]



